
 
 TRAILER AXLE SPINDLE HARDWARE 

 FRUEHAUF "PRO-PAR" AXLE AND MERITOR EARLY MODEL TP AXLE 
       WASHERS PIN 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICK O.D. I.D. DIA. LGTH 

 

R001561 Lockwasher 12402, 42203, 5402, 65463, 
E1561, L1893, L893, M1051 

  7/32" 5-1/16" 3-1/2"   

 

R002550 Spindle Nut 12400, 42202, 5401, 66101, 
E2550, L1395, M1050, 
M1996 

4-3/4" 3-1/2"-12 1-1/8"     

 

 MERITOR RL, RN, RQ, TK, TKL, TKN AXLES - "POSITIVE" ADJUSTMENT 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R003010 Tab Lock Washer E3010, M2568   1/16" 4" 2-13/32" 

 

R001252 Lockwasher 12397, 42199, 66122, E1252, 
L1026, L843, M839 

  1/4" 3-13/16" 2-13/32" 

 

R001251 Outer Nut 12398, 42198, 66121, E1251, 
L840, M840 

3-1/4" 2-3/8"-16 3/8"   

 

1227-B-678 Wheel Bearing Nut 12396, 38078, 42201, 66123, 
E1253, L2099, L842, M838 

3-13/16" 2-3/8"-16 1/2"   

 

R002128  1 Nut 12399, 42200, 66125, E2128, 
L1025, M846 

3-13/16" 2-3/8"-16 1/2"   

 

 MERITOR TN, TQ AXLES - "MANUAL" ADJUSTMENT 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R000573  2 Lockwasher 10287, 105107, 12392, 
42195, 5300, 66115, 820396, 
E573, F1531, F942, L177, 
M10HN100, M2567, M683 

  1/4" 3-15/16" 2-41/64" 

 

R000572 Outer Nut 10286, 103102001, 10408, 
12393, 42194, 5200, 66114, 
820395, E572, F1530, F941, 
L178, M10HN102, M684 

3-1/4" 2-5/8"-16 3/8"   

 

R000540 Inner Nut 038540, 10284, 103103002, 
10406, 12391, 12407, 42196, 
5210, 66117, 820394, E540, 
F1529, F940, L176, 
M10HN101, M2200, M682 

3-13/16" 2-5/8"-16 3/8"   

11 

 

   

 

1   Use in place of 1227-B-678 to convert to "manual" adjustment. 
 

2   Includes set screw 1199-K-3859. 
 

11-37
 



 TRAILER AXLE SPINDLE HARDWARE 
 MERITOR TN, TQ AXLES - "POSITIVE" ADJUSTMENT 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

A-1229-X-2546  2 Lock Washer 
Assembly 

E7663, L3236   15/64" 3-7/8" 2-25/64" 

 

R001251 Outer Nut 12398, 42198, 66121, E1251, 
L840, M840 

3-1/4" 2-3/8"-16 3/8"   

 

1227-B-678 Wheel Bearing Nut 12396, 38078, 42201, 66123, 
E1253, L2099, L842, M838 

3-13/16" 2-3/8"-16 1/2"   

 

R002128  1 Nut 12399, 42200, 66125, E2128, 
L1025, M846 

3-13/16" 2-3/8"-16 1/2"   

 

 MERITOR TP AXLE - "MANUAL" ADJUSTMENT 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R007665 Washer    7/32" 5-1/16" 3-1/2" 

 

R007666 Spindle Nut  4-3/8" 3-1/2"-12 3/8"   

 

R007664 Spindle Nut  4-27/32" 3-1/2"-12 3/8"   

 

 MERITOR TP AXLE - "POSITIVE" ADJUSTMENT 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

A-1229-S-4179  6 Lock Washer 
Assembly 

E7660   15/64" 4-3/4" 3-19/64" 

 

1229-Y-3119 Lockwasher E7659, L3216   1/4" 5-3/64" 3-19/64" 

 

1227-R-1240  3 Inner Wheel 
Bearing Nut 

E7658, L3214 4" 3-1/4"-12 3/8"   

   

11-38 

1   Use in place of 1227-B-678 to convert to "manual" adjustment. 
3   Use R002303 & A-1229-S-1479 together to convert to  
     “manual” adjustment. 

2   Includes set screw 1199-K-3859. 
6   Includes set screw 26-X-1002. 

 



 
 TRAILER AXLE SPINDLE HARDWARE 

 MERITOR TP AXLE - "POSITIVE" ADJUSTMENT 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002303 Inner Nut 119883, 12417, 42222, 
66224, E2303, L1355, M1980 

4" 3-1/4"-12 3/8"   

 

R002305 Outer Nut 119881, 12419, 42223, 
66226, E2305, L1353, M1978 

4" 3-1/4"-12 3/8"   

 

 MERITOR TR AXLE 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

A-1229-S-4179  6 Lock Washer 
Assembly 

E7660   15/64" 4-3/4" 3-19/64" 

 

R002303 Inner Nut 119883, 12417, 42222, 
66224, E2303, L1355, M1980 

4" 3-1/4"-12 3/8"   

 

R002305 Outer Nut 119881, 12419, 42223, 
66226, E2305, L1353, M1978 

4" 3-1/4"-12 3/8"   

 

 MERITOR, EATON, KERSHAW & STD. FORGE 17,000 & 18,000 LB. TRADE AXLES 
       WASHERS  

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE 

THICKNES
S O.D. I.D. 

TAB 
LENGTH 

 

R003009 Tab Lock Washer E3009   1/16" 4-1/32" 2-41/64" 3/32" 

 

R002237 Tab Lock Washer 105106, 12394, 42197, 5660, 
E2237, L1327, M1068, 
M10HN151 

  1/16" 4-1/32" 2-41/64" 5/32" 

 

R000573  2 Lockwasher 10287, 105107, 12392, 
42195, 5300, 66115, 820396, 
E573, F1531, F942, L177, 
M10HN100, M2567, M683 

  1/4" 3-15/16" 2-41/64"  

 

R000572 Outer Nut 10286, 103102001, 10408, 
12393, 42194, 5200, 66114, 
820395, E572, F1530, F941, 
L178, M10HN102, M684 

3-1/4" 2-5/8"-16 3/8"    

 

R000540 Inner Nut 038540, 10284, 103103002, 
10406, 12391, 12407, 42196, 
5210, 66117, 820394, E540, 
F1529, F940, L176, 
M10HN101, M2200, M682 

3-13/16" 2-5/8"-16 3/8"    

11 

 

   

 

2   Includes set screw 1199-K-3859. 
 

6   Includes set screw 26-X-1002. 
 

11-39
 



 TRAILER AXLE SPINDLE HARDWARE 
 MERITOR, SPICER & STD. FORGE 11,000 LB. AXLES 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R001000 Washer    1/16" 2-7/8" 1.50" x 1.38" 
"D" Hole 

 

R001001 Washer    1/8" 2-1/4" 1.50" x 1.38" 
"D" Hole 

 

R001087 Nut 103105, E1087, L1328, 
M10HN128 

2-1/4" 1-1/2"-12 9/32"   

 

 SPICER D21 & D22 AND STD. FORGE A25 & A26 AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R000573  2 Lockwasher 10287, 105107, 12392, 
42195, 5300, 66115, 820396, 
E573, F1531, F942, L177, 
M10HN100, M2567, M683 

  1/4" 3-15/16" 2-41/64" 

 

R002237 Tab Lock Washer 105106, 12394, 42197, 5660, 
E2237, L1327, M1068, 
M10HN151 

  1/16" 4-1/32" 2-41/64" 

 

R000572 Outer Nut 10286, 103102001, 10408, 
12393, 42194, 5200, 66114, 
820395, E572, F1530, F941, 
L178, M10HN102, M684 

3-1/4" 2-5/8"-16 3/8"   

 

R000540 Inner Nut 038540, 10284, 103103002, 
10406, 12391, 12407, 42196, 
5210, 66117, 820394, E540, 
F1529, F940, L176, 
M10HN101, M2200, M682 

3-13/16" 2-5/8"-16 3/8"   

 

 STEERING AXLE SPINDLE HARDWARE 
For Light, Medium and Heavy Duty Trucks

 CHEVROLET & GMC F050, F055 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004874 Washer E4874, L2581   9/64" 2-1/2" 7/8" 

 

R004849 Spindle Nut E4849, L2580 1-1/4" 7/8"-20 13/16"   

 

   

11-40 

2   Includes set screw 1199-K-3859. 
 

 

 



 STEERING AXLE SPINDLE HARDWARE 
For Light, Medium and Heavy Duty Trucks

 CHEVROLET & GMC F070 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004854 Spindle Nut E4854, L2590 1-5/8" 1-1/8"-16 3/4"   

 

 CHEVROLET & GMC G30, P30, G3500 
       WASHERS 

PART NO. DESCRPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004879 Washer E4879, L2622   1/8" 2-1/4" 7/8" 

 

R004865 Spindle Nut E4865, L2621 1-1/4" 27/32"-20 9/16"   

 

 FORD 5,000 LB. FRONT AXLE 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004867 Washer E4867, L2585   5/32" 2-3/4" 1" 

 

R004859 Spindle Nut E4859 1-7/16" 1"-14 5/8"   

 

 FORD 6,000 LB. FRONT AXLE 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004869 Washer E4869, L2615   3/16" 3" 1-1/2" 

 

R004861 Spindle Nut E4861, L2614 2-1/4" 1-1/2"-18 7/8"   

11 

 

 MACK FRONT AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R003502 Washer 12454, E3502, M2574   1/8" 3"  

 

R003501 Spindle Nut 12453, E3501, M2573 2-5/8" 1-5/8"-12 3/8"   

 

   

 

  

11-41
 



 STEERING AXLE SPINDLE HARDWARE 
For Light, Medium and Heavy Duty Trucks

 NAVISTAR 02109 (DANA FA109)                      9,000 LBS. 
 NAVISTAR 02139 (DANA FA139)                    12,000 LBS. 
 NAVISTAR 02309 (DANA I-90)                           9,000 LBS. 
 NAVISTAR 02329 (DANA I-108)                       10,800 LBS. 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004871 Lockwasher E4871, L2593, L2594, M3288   3/32" 3-7/16" 2-3/32" 

 

R006138 Washer E6138, L3210, M3298   1/4" 3-3/4" 2-3/32" 

 

R004855 Inner-Outer Nut E4855, L2592 2-7/8" 2-1/16"-16 3/8"   

 

 NAVISTAR 02109 (DANA FA109)                      9,000 LBS. 
 NAVISTAR 02139 (DANA FA139)                    12,000 LBS. 
 NAVISTAR 02309 (DANA I-90)                           9,000 LBS. 
 NAVISTAR 02329 (DANA I-108)                       10,800 LBS. 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004871 Lockwasher E4871, L2593, L2594, M3288   3/32" 3-7/16" 2-3/32" 

 

R006139 Washer E6139, L3209, M3299   1/4" 4-1/8" 2-3/32" 

 

R004855 Inner-Outer Nut E4855, L2592 2-7/8" 2-1/16"-16 3/8"   

 

 NAVISTAR FA48 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004875 Washer E4875   13/64" 2-1/8" 1" 

 

R004850 Spindle Nut E4850 1-1/4" 7/8"-14 3/4"   

 

   

11-42 

  

 



 STEERING AXLE SPINDLE HARDWARE 
For Light, Medium and Heavy Duty Trucks

 NAVISTAR FA68, FA72 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004851 Spindle Nut E4851, L2584 1-1/2" 1"-14 7/8"   

 

 NAVISTAR FA70, FA89, FA91, FA98 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004868 Washer E4868, L2589   5/32" 2-5/8" 1-1/8" 

 

R004853 Spindle Nut E4853, L2588 1-5/8" 1-1/8"-12 3/4"   

 

 NAVISTAR FA71, FA73, FA101 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004870 Washer E4870, L2587   3/4" 2-1/32" 1-1/8" 

 

R004852 Spindle Nut E4852, L2586 1-5/8" 1-1/8"-12 1/2"   

 

 MERITOR FD-900, FD-901, FE-900, FF-901, FF931 AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002298 Washer 12425, 42208, 66144, E2298, 
L1332, M1957 

  3/64" 3" 1-33/64" 

 

R002297 Lockwasher 12424, 42207, 66143, E2297, 
L1333, M1958 

  3/16" 2-3/4" 1-17/32" 

 

R002296 Outer Nut 12426, 42206, 66145, E2296, 
L1331, M1956 

2-1/4" 1-1/2"-12 7/16"   

 

R002299 Inner Nut 12423, 42205, E2299, L1334, 
M1959 

2-5/8" 1-1/2"-12 3/8"   

11 

 

   
   

11-43
 



 STEERING AXLE SPINDLE HARDWARE 
For Light, Medium and Heavy Duty Trucks

 MERITOR FE-970 AND "E" SERIES DRIVE AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002301 Lock Ring 12428, 42210, 66155, E2301, 
L1336, M1961 

  1/16" 3-5/16" 2-1/4" 

 

R002302 Flat Washer    1/4" 4-5/16" 2-1/4" 

 

R002300 Nut  2-7/8" 2-1/4"-16 5/16"   

 

 MERITOR FG-900 AXLE 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002659  4 Flat Washer E2659   1/32" 3-1/4" 1-25/32" 

 

R002660  4 Lock Ring E2660   7/32" 3-1/4" 1-25/32" 

 

R003510 Inner Nut   1-3/4"-12 1/2" 3-5/16"  

 

R002658  4 Nut  2-1/2" 1-3/4"-12 11/16"   

 

 MERITOR 16,000 LB. AXLE 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002659  4 Flat Washer E2659   1/32" 3-1/4" 1-25/32" 

 

R002660  4 Lock Ring E2660   7/32" 3-1/4" 1-25/32" 

 

R002658  4 Nut  2-1/2" 1-3/4"-12 11/16"   

   

11-44 

4   Service with KIT 1416. 
 

 

 



 
 STEERING AXLE SPINDLE HARDWARE 

For Light, Medium and Heavy Duty Trucks
 MERITOR 16,000 LB. AXLE 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

1227-S-1527  4 Wheel Bearing Nut  3-7/8" 1-3/4"-12 1/2"   

 

 MERITOR FH-901, FL-901, FL-931 AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002659  4 Flat Washer E2659   1/32" 3-1/4" 1-25/32" 

 

R002660  4 Lock Ring E2660   7/32" 3-1/4" 1-25/32" 

 

R002663 Flat Washer    1/4" 4-1/8" 1-25/32" 

 

R002658  4 Nut  2-1/2" 1-3/4"-12 11/16"   

 

1227-S-1527  4 Wheel Bearing Nut  3-7/8" 1-3/4"-12 1/2"   

 

 DRIVE AXLE SPINDLE HARDWARE 
For Light, Medium and Heavy Duty Trucks

 CHEVROLET & GMC H150 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004873 Washer E4873, L2595   1/16" 3-1/8" 2-1/8" 

 

R004856 Spindle Nut E4856 2-7/8" 2-1/8"-16 3/8"   

 

 CHEVROLET & GMC T150 & T170 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004876 Lockwasher E4876, L2602   3/8" 3-7/8" 2-1/2" 

11 

   

 

4   Service with KIT 1416. 
 

 

11-45
 



 
 DRIVE AXLE SPINDLE HARDWARE 

For Light, Medium and Heavy Duty Trucks
 CHEVROLET & GMC T150 & T170 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004858 Spindle Nut E4858, L2601 3-5/8" 2-1/2"-16 3/8"   

 

 EATON 32M-MR, -34M, -MF, 34D-DT-RT, 17800-17801 SERIES AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002461 Lockwasher 06471, 12435, 30714, 42228, 
E2461, L1360, M1985 

  1/8" 4" 2-5/8" 

 

R002460 Spindle Nut 120257, 12436, 34090, 
E2460, L1359, M1984 

3-3/8" 2-5/8"-12 1"   

 

R002462 Outer Nut 12434, 19186, 42226, 42227, 
E2462, L1361, M1986 

3-7/16" 2-5/8"-12 15/32"   

 

 EATON 38R3, RP-RT, 42R3-RP-RT, 18800, 18801-02-03 SERIES AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002464 Lockwasher 12438, 42231, 90180, E2464, 
L1363, M1988 

  1/8" 4-1/2" 3" 

 

R002465 Spindle Nut 120622, 12437, 90229, 
E2465, L1364, M1989 

3-13/16" 3"-12 3/8"   

 

R002463 Spindle Nut 121353, 12439, 31926, 
E2463, L1362, M1987 

3-13/16" 3"-12 1"   

 

 EATON 32M-MR, -34M, -MF, 34D-DT-RT, 17800-17801 SERIES AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002467 Lockwasher 11245, 12441, 42234, E2467, 
L1366, M1991 

  1/8" 4-3/4" 3-1/4" 

 

R002468 Inner Nut 11249, 12440, 42233, E2468, 
L1367, M1992 

4-1/8" 3-1/4"-12 1/2"   

 

   

11-46 

  

 



 DRIVE AXLE SPINDLE HARDWARE 
For Light, Medium and Heavy Duty Trucks

 FORD 15,000 LB. REAR AXLE 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004878 Lockwasher E4878   1/16" 3" 2" 

 

R004862 Spindle Nut E4862, L2616 2-9/16" 2"-16 5/16"   

 

R004863 Outer Nut E4863, L2618 2-9/16" 2"-16 2-1/32"   

 

 FORD 17,500 LB. REAR AXLE 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004864 Spindle Nut E4864, L2619 3-1/2" 2-1/2"-16 3/8"   

 

 FORD 18,000 LB. REAR AXLE 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002461 Lockwasher 06471, 12435, 30714, 42228, 
E2461, L1360, M1985 

  1/8" 4" 2-5/8" 

 

R000573  2 Lockwasher 10287, 105107, 12392, 
42195, 5300, 66115, 820396, 
E573, F1531, F942, L177, 
M10HN100, M2567, M683 

  1/4" 3-15/16" 2-41/64" 

 

R002462 Outer Nut 12434, 19186, 42226, 42227, 
E2462, L1361, M1986 

3-7/16" 2-5/8"-12 15/32"   

 

R006142 Nut  3-1/2" 2-5/8"-12 3/8"   

 

 MACK 50,000 LB. 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002304 Lockwasher 119882, 12418, 42224, 
66225, E2304, L1354, M1979 

  7/32" 4-11/32" 3-9/32" 

 

R002303 Inner Nut 119883, 12417, 42222, 
66224, E2303, L1355, M1980 

4" 3-1/4"-12 3/8"   

11 

   

 

2   Includes set screw 1199-K-3859. 
 

 

11-47
 



 DRIVE AXLE SPINDLE HARDWARE 
For Light, Medium and Heavy Duty Trucks

 MACK 50,000 LB. 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002305 Outer Nut 119881, 12419, 42223, 
66226, E2305, L1353, M1978 

4" 3-1/4"-12 3/8"   

 

 MACK 55,000, 58,000, 65,000 LB. 
 SW-50C, SW-55C, SW-58C, SW-65C, S-50C, S-55C, S-58C, S-65C 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R006146 Washer E6146   1/4" 5-1/4" 3-9/16" 

 

R006148 Spindle Nut E6148   1/4" 6-3/8" 4" 

 

R006145 Spindle Nut E6145 5-1/4" 3-9/16"-12 1/2"   

 

R006147 Washer E6147 5-1/4" 3-9/16"-12 1/2"   

 

 MACK SW-56C SERIES AXLE 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R003505 Washer 12444, E3505, L2375, M1998   5/32" 4-7/16" 2-57/64" 

 

R006144 Washer E6144   1/4" 4-1/8" 3-1/4" 

 

R003504 Spindle Nut 12443, E3504, L2376, M1999 4-1/8" 2-7/8"-12 3/8"   

 

R003506 Spindle Nut 12445, E3506, L2378, M1997 4-1/8" 2-7/8"-12 3/8"   

 

   

11-48 

  

 



 DRIVE AXLE SPINDLE HARDWARE 
For Light, Medium and Heavy Duty Trucks

 MACK SW-57C SERIES AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R003508 Washer 12451, E3508, L2373, M2202   1/4" 4-7/16" 2-61/64" 

 

R003507 Spindle Nut 12450, E3507, L2374, M2203 4-1/8" 2-15/16"-12 3/8"   

 

R003509 Spindle Nut 12452, E3509, L2377, M2201 4-1/8" 2-15/16"-12 3/8"   

 

 NAVISTAR 14039 (INTERNATIONAL/DANA F170S)                    17,000 LBS. 
 NAVISTAR 14042 (INTERNATIONAL/DANA J175S)                    17,500 LBS. 
 NAVISTAR 14199 (EATON 16244)                                                 17,500 LBS. 
 NAVISTAR 14341 (INTERNATIONAL/DANA RA341)                    30,000 LBS. 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004881 Lockwasher E4881, L2600, M3291   1/8" 3-3/4" 2-17/32" 

 

R004857 Inner-Outer Nut E4857, L2599, M3296 3-1/4" 2-1/2"-12 11/32"   

 

 NAVISTAR 14044 (INTERNATIONAL/DANA J190S)                    19,000 LBS. 
 NAVISTAR 14186 (EATON 17202/22)                                            19,000 LBS. 
 NAVISTAR 14351 (INTERNATIONAL/DANA G340S)                    34,000 LBS. 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R004877 Lockwasher E4877, L2604   1/8" 4-1/16" 2-5/8" 

 

R002462 Outer Nut 12434, 19186, 42226, 42227, 
E2462, L1361, M1986 

3-7/16" 2-5/8"-12 15/32"   

11 

 

   

 

  

11-49
 



 DRIVE AXLE SPINDLE HARDWARE 
For Light, Medium and Heavy Duty Trucks

 NAVISTAR 14308 (EATON DS402P)                     40,000 LBS. 
 NAVISTAR 14309 (EATON RT402)                        40,000 LBS. 
 NAVISTAR 14342, 14464 (EATON DT401P)          40,000 LBS. 
 NAVISTAR 14311 (EATON RS460/461)                 46,000 LBS. 
 NAVISTAR 14364 (EATON RS401)                        40,000 LBS. 
 NAVISTAR 14493 (EATON RS341)                        34,000 LBS. 
 NAVISTAR 14494 (EATON RS381/402)                 38,000 LBS. 
 NAVISTAR 14277 (MERITOR U240)                       29,000 LBS. 
 NAVISTAR 14348 (MERITOR SQHD)                     38,000 LBS. 
 NAVISTAR 14338, 14336 (MERITOR SRDD)         44,000 LBS. 
 NAVISTAR 14368 (MERITOR STDD)                      50,000 LBS. 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R006141 Lockwasher E6141, L3212, M3393   1/8" 4-3/4" 3-1/4" 

 

1227-V-464 Wheel Bearing Nut E6140, L3211, M3390 4-1/8" 3-1/4"-12 3/8"   

 

 MERITOR "F" SERIES AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002418 Lockwasher M1970   5/32" 3-3/4" 2-1/2" 

 

R002419 Nut M1969 3-1/2" 2-1/2"-16 5/16"   

 

R002417 Nut M1971 3-1/2" 2-1/2"-16 5/16"   

 

 MERITOR "H" SERIES AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

1229-J-4638  5 Lock Washer    3/64" 4-3/16" 2-5/8" 

 

1229-G-1021  5 Lockwasher 12412, 38095, 42218, 66197, 
E2421, L1348, M1973 

  3/16" 3-3/4" 2-5/8" 

 

R002420 Nut  3-1/2" 2-5/8"-16 5/16"   

   

11-50 

5   Not sold separately. Must service with KIT 2761. 
 

 

 



 
 DRIVE AXLE SPINDLE HARDWARE 

For Light, Medium and Heavy Duty Trucks
 MERITOR "H" SERIES AXLES 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002422 Nut  3-1/2" 2-5/8"-16 5/16"   

 

 MERITOR SPECIAL "H" SERIES AXLES 
 H-145, H-162, H-172, H-240, H-262, H-362, H-350 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

1229-J-4638  5 Lock Washer    3/64" 4-3/16" 2-5/8" 

 

1229-G-1021  5 Lockwasher 12412, 38095, 42218, 66197, 
E2421, L1348, M1973 

  3/16" 3-3/4" 2-5/8" 

 

R002462 Outer Nut 12434, 19186, 42226, 42227, 
E2462, L1361, M1986 

3-7/16" 2-5/8"-12 15/32"   

 

R006142 Nut  3-1/2" 2-5/8"-12 3/8"   

 

 MERITOR "L" SERIES AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002424 Lockwasher 12415, 38098, 42221, L1351, 
M1976 

  3/8" 4-1/4" 3" 

 

R002423 Nut  4" 3"-12 3/8"   

 

R002425 Nut  4" 3"-12 3/8"   

 

 MERITOR "Q" & "R" SERIES AXLES FOR SQHD & R170 DRIVE AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002304 Lockwasher 119882, 12418, 42224, 
66225, E2304, L1354, M1979 

  7/32" 4-11/32" 3-9/32" 

11 

   

 

  

11-51
 



 
 DRIVE AXLE SPINDLE HARDWARE 

For Light, Medium and Heavy Duty Trucks
 MERITOR "Q" & "R" SERIES AXLES FOR SQHD & R170 DRIVE AXLES 

       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R002303 Inner Nut 119883, 12417, 42222, 
66224, E2303, L1355, M1980 

4" 3-1/4"-12 3/8"   

 

R002305 Outer Nut 119881, 12419, 42223, 
66226, E2305, L1353, M1978 

4" 3-1/4"-12 3/8"   

 

 

DRIVE AXLE PRODUCTS DRIVELINE PRODUCTS
New Carriers Universal Joints
Reman Carriers Center Bearings
Rebuild Kits End, Slip & Weld Yokes
Gear Sets Tubing
Seals & Bearings Spline Plugs

Bearing Stubs
BRAKE PRODUCTS RPL Driveline

New Lined Brake Shoes C.V. / P.T.O. Components
Reman Brake Shoes
Friction Materials FRONT DRIVE & NON-DRIVE AXLE PRODUCTS
Camshafts Steering Knuckles
Air Drum Brake Components & Kits King Pin Kits
Air Disc Pads & Components Tie Rod & Drag Link Ends
Hydraulic Disc Pads Drag Links
Calipers & Wheel Cylinders Steering & Tie Rod Arms
Hydraulic Drum & Disc Brake Components Beams
Automatic & Manual Slack Adjusters
Brake & Camshaft Repair Kits SUSPENSION PRODUCTS

Air Springs
WHEEL END PRODUCTS Equalizers, Hangers, Beams

Cast Brake Drums Bushings & Hardware
X-30 Steelite Brake Drums Speciality Polyurethane Components
Hubs & Spoke Wheels Torque Rods
Rotors - Air & Hydraulic Disc U-Bolts
Wheel Attaching Components Gabriel® Shock Absorbers
Seals & Bearings

CLUTCHES - CLASS 8 TRUCKS
ABS & AIR SYSTEM PRODUCTS New & Reman Product

Air Dryers & Cartridges LTD Applications
Air Valves AutoJust™
Wheel Sensors & Tone Rings Lite Pedal
Wire Harnesses & Electronic Control Units (ECU)

TRANSMISSION PRODUCTS
TRAILER PRODUCTS Reman Units

Axle Tubes Transmission Components & Kits
"Dressed" Axles
Meritor Tire Inflation System (MTIS) OTHER PRODUCTS

Fras-Le Brand Brake Block & Lining

The Meritor Brand offers Genuine OEM Vehicle production as well as
FLEET VEHICLE MAINTENANCE COMPONENTS

"All-Makes" Aftermarket Maintenance Components for these vehicle systems:

   

11-52 

  

 



 RIM CLAMPS 
PART NO. REPLACES HEIGHT WIDTH HOLE SIZE OFFSET 

 

R005780  1 521445, E5780, M1178, W539 1-7/8" 1-3/4" 5/8" 1/2" 

 

PART NO. REPLACES HEIGHT WIDTH 
HOLE 
SIZE OFFSET 

THICK- 
NESS 

 

R006054G  3-13/32" 2-1/16" 3/4" 21/32" 1-1/4" 

 

PART NO. REPLACES HEIGHT WIDTH 
HOLE 
SIZE OFFSET 

SPACER 
WIDTH 

R005840 521320, E5840 2-7/16" 2-13/16" 3/4" 1-1/16"  
R005772 521328, E5772, M1174, W569 2-7/16" 3" 5/8" 1-1/8"  
R005047 09717510, 521321, E5047, M6, 

W118 
2-1/2" 3-1/8" 5/8" 1-1/16" 4" 

 

R005046 09717110, 521320, E5046, M5, 
W117, W145 

2-1/2" 3-1/8" 3/4" 1-5/32" 4" 

 

PART NO. REPLACES HEIGHT WIDTH 
HOLE 
SIZE OFFSET 

WHEEL 
SIZE 

R005953G 314, 521410, E5953, M1183, W420 1-13/16" 7-3/4" 3/4" 1-3/16" 15" 
R005973  1-55/64" 7-11/16" 3/4" 1-15/16" 15" 
R005825 521407, E5825, M1129, W227 2-5/16" 12-5/16" 3/4" 1-1/16" 22" 

 

R005824 521405, E5824, M1128, W226 2-1/2" 10-5/8" 3/4" 1-1/8" 20" 

 

 TRAILER AXLE SPINDLE HARDWARE 
 EATON & FRUEHAUF AXLES 

PART NO. DESCRIPTION REPLACES DIAMETER LENGTH 
 R002306 
 

Cotter Pin 12406, E2306 1/4" 3" 
 

 EATON, MERITOR, SPICER & STD. FORGE 13,000 & 14,000 LB. AXLES 
       WASHERS 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICKNESS O.D. I.D. 

 

R000617 Washer    1/16" 3" 1.75" x 1.63" 
"D" Hole 

 

1227-H-34 Nut 103100001, 12461, 65466, 
E618, F1202, L209, 
M10HN107, M680 

2-1/2" 1-3/4"-12 3/8"   

 

 FRUEHAUF "PRO-PAR" AXLE AND MERITOR EARLY MODEL TP AXLE 
       WASHERS PIN 

PART NO. DESCRIPTION REPLACES 
ACROSS 
FLATS 

THREAD 
SIZE THICK O.D. I.D. DIA. LGTH 

 R001559 Cotter Pin 12403, 42204, 5403, E1559, 
L1762, M1069, M1430 

     1/4" 1" 

 1   Casting  

11-36 

  

 


	Meritor Axle Spindle Hardware
	Pages from Meritor spindle hardware-2



